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	1
	Economics is the study of:
	

	A)
	How society manages its unlimited resources.
	

	B)
	How to reduce our wants until we are satisfied.
	

	C)
	How society manages its scarce resources.
	+

	D)
	How to fully satisfy our unlimited wants.
	

	E)
	How to avoid having to make trade-offs.
	

	2
	A rational person does not act unless:
	

	A)
	The action is ethical.
	

	B)
	The action produces marginal costs that exceed marginal benefits.
	

	C)
	The action produces marginal benefits that exceed marginal costs.
	+

	D)
	The action makes money for the person.
	

	E)
	None of these answers.
	

	3
	Which of the following is not a factor of production?
	

	A)
	Labour
	

	B)
	Land
	

	C)
	Money
	+

	D)
	Capital
	

	E)
	All of these answers are factors of production
	

	4
	Which of the following will not shift a country's production possibilities frontier outward?
	

	A)
	an advance in technology
	

	B)
	an increase in the labour force
	

	C)
	an increase in the capital stock
	

	D)
	a reduction in unemployment
	+

	E)
	All of these answers
	

	5
	Which of the following statements is normative?
	

	A)
	Large government deficits cause an economy to grow more slowly.
	

	B)
	People work harder if the wage is higher.
	

	C)
	The unemployment rate should be lower.
	+

	D)
	Printing too much money causes inflation.
	

	E)
	none of these answers
	

	6
	If a nation has a comparative advantage in the production of a good,
	

	A)
	it can produce that good at a lower opportunity cost than its trading partner.
	+

	B)
	it can benefit by restricting imports of that good.
	

	C)
	it can produce that good using fewer resources than its trading partner.
	

	D)
	it must be the only country with the ability to produce that good.
	

	E)
	none of these answers.
	

	7
	A perfectly competitive market has
	

	A)
	firms that set their own prices.
	

	B)
	only one seller.
	

	C)
	at least a few sellers.
	

	D)
	many buyers and sellers.
	+

	E)
	none of these answers
	

	

	

	8
	The law of demand states that an increase in the price of a good
	

	A)
	increases the supply of that good.
	

	B)
	decreases the quantity demanded for that good.
	+

	C)
	decreases the demand for that good.
	

	D)
	increases the quantity supplied of that good.
	

	E)
	none of these answers.
	

	9
	If an increase in consumer incomes leads to a decrease in the demand for camping equipment, then camping equipment is
	

	A)
	a normal good.
	

	B)
	none of these answers.
	

	C)
	an inferior good.
	+

	D)
	a substitute good.
	

	E)
	a complementary good.
	

	10
	If the price of a good is above the equilibrium price,
	

	A)
	there is a surplus and the price will rise.

	

	B)
	there is a shortage and the price will fall.

	

	C)
	there is a shortage and the price will rise.

	

	D)
	the quantity demanded is equal to the quantity supplied and the price remains unchanged.

	

	E)
	there is a surplus and the price will fall.
	+

	11
	Suppose there is an increase in both the supply and demand for personal computers. In the market for personal computers, we would expect
	

	A)
	the equilibrium quantity to rise and the equilibrium price to rise.

	

	B)
	the equilibrium quantity to rise and the equilibrium price to fall.

	

	C)
	the equilibrium quantity to rise and the equilibrium price to remain constant.
	

	D)
	the change in the equilibrium quantity to be ambiguous and the equilibrium price to rise.

	

	E)
	the equilibrium quantity to rise and the change in the equilibrium price to be ambiguous.
	+

	12
	Which of the following shifts the demand for watches to the right?
	

	A)
	an increase in the price of watches

	

	B)
	none of these answers

	

	C)
	a decrease in the price of watch batteries if watch batteries and watches are complements

	+

	D)
	a decrease in consumer incomes if watches are a normal good

	

	E)
	a decrease in the price of watches
	

	13
	If a small percentage increase in the price of a good greatly reduces the quantity demanded for that good, the demand for that good is
	

	A)
	income inelastic.
	

	B)
	price inelastic.
	

	C)
	price elastic.
	+

	D)
	unit price elastic
	

	E)
	income elastic.
	

	14
	The price elasticity of demand is defined as
	

	A)
	the percentage change in the quantity demanded divided by the percentage change in income.
	

	B)
	the percentage change in income divided by the percentage change in the quantity demanded.
	

	C)
	the percentage change in the quantity demanded of a good divided by the percentage change in the price of that good.
	+

	D)
	none of these answers.
	

	E)
	the percentage change in price of a good divided by the percentage change in the quantity demanded of that good.
	

	15
	Which of the following would cause a demand curve for a good to be price inelastic?
	

	A)
	The good is a luxury.
	

	B)
	There are a great number of substitutes for the good.
	+

	C)
	The good is a necessity.
	

	D)
	The good is an inferior good.
	

	E)
	None of these answers.
	

	16
	If the cross-price elasticity between two goods is negative, the two goods are likely to be
	

	A)
	substitutes
	

	B)
	complements.
	+

	C)
	necessities.
	

	D)
	luxuries.
	

	E)
	inferior goods
	

	17
	A decrease in supply (shift to the left) will increase total revenue in that market if
	

	A)
	demand is price inelastic.
	+

	B)
	supply is price elastic.
	

	C)
	supply is price inelastic.
	

	D)
	demand is price elastic.
	

	E)
	demand is unit price elastic
	

	18
	Suppose that at a price of €30 per month, there are 30,000 subscribers to cable television in Small Town. If Small Town Cablevision raises its price to €40 per month, the number of subscribers will fall to 20,000. Using the midpoint method for calculating the elasticity, what is the price elasticity of demand for cable TV in Small Town?
	

	A)
	1.4
	+

	B)
	0.66
	

	C)
	0.75
	

	D)
	2.0
	

	E)
	1.0
	

	19
	If consumers think that there are very few substitutes for a good, then
	

	A)
	supply would tend to be price elastic.
	

	B)
	none of these answers.
	

	C)
	demand would tend to be price inelastic.
	+

	D)
	demand would tend to be price elastic.
	

	E)
	supply would tend to be price inelastic.
	

	20
	If the price of automobiles were to decrease substantially, the demand curve for public transportation would most likely
	

	A)
	shift rightward.
	

	B)
	shift leftward.
	+

	C)
	remain unchanged.
	

	D)
	remain unchanged while quantity demanded would change.
	

	E)
	none of these answers.
	

	21
	According to the Law of Demand, the demand curve for a good will
	

	A)
	none of these answers.
	

	B)
	shift leftward when the price of the good increases.
	

	C)
	shift rightward when the price of the good increases.
	

	D)
	slope downward.
	+

	E)
	slope upward.
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The above figure shows a graph of the market for pizzas in a large town. If the price falls from $10 to $7 per pizza, the quantity of pizzas demanded will

	

	A)
	increase by 20.
	

	B)
	decrease by 30.
	

	C)
	increase by 30.
	+

	D)
	decrease by 10.
	

	E)
	increase by 40
	

	23
	If  Qs = -20 + 10p, and Qd = 400 - 20p, what is the equilibrium price?
	

	A)
	14
	+

	B)
	42
	

	C)
	12.67
	

	D)
	38
	

	E)
	19
	

	24
	A price ceiling that is set below the equilibrium price
	

	A)
	causes suppliers to raise their prices.
	

	B)
	is binding.
	+

	C)
	is non-binding.
	

	D)
	creates a surplus.
	

	E)
	none of these answers.
	

	25
	A price floor that is set above the equilibrium price
	

	A)
	causes suppliers to lose money.
	

	B)
	creates a shortage.
	

	C)
	none of these answers.
	

	D)
	creates a surplus.
	+

	E)
	is non-binding.
	

	26
	If the price of a slice of pizza rises from $2.50 to $3, and quantity demanded falls from 10,000 slices to 7,400 slices, using the formula for arc price elasticity what is the percentage change in price?
	

	A)
	18.18%
	+

	B)
	29.89%
	

	C)
	20%
	

	D)
	16.67%
	

	E)
	20.18%
	

	27
	If the demand curve for slices of pizza is given as Q = 300 - 16p, then the point elasticity of demand when price is $1.50 is
	

	A)
	-24.
	

	B)
	-0.087.
	+

	C)
	-0.0054
	

	D)
	-16.
	

	E)
	- 15
	

	28
	If the price of orange juice rises 10%, and as a result the quantity demanded falls by 8%, the price elasticity of demand for orange juice is
	

	A)
	-1.25.
	

	B)
	-80.0.
	+

	C)
	-0.80.
	

	D)
	-10.0.
	

	E)
	 -50.0.
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The above figure shows the demand curve for crude oil. If the market price is $10 a barrel, what is the price elasticity of demand?
	

	A)
	- 0.2
	

	B)
	- 1
	+

	C)
	- 10
	

	D)
	- 500
	

	E)
	-100
	

	30
	If the demand curve for comic books is expressed as Q = 10,000 * p-1, then demand has a unitary elasticity
	

	A)
	only when p = 10,000.
	

	B)
	only when p = 100.
	

	C)
	always.
	+

	D)
	never.
	

	E)
	only when p = 1,000.
	

	31
	Which of the following is most likely to be TRUE?
	

	A)
	Income elasticity of demand for fur coats exceeds that of oatmeal.
	+

	B)
	Income elasticity of demand for oatmeal exceeds that of fur coats.
	

	C)
	Income elasticity of demand for fur coats equals that of oatmeal.
	

	D)
	It is not possible to make any prediction about relative income elasticities.
	

	E)
	All of these answers
	

	32
	Which of the following statements about the burden of a tax is correct?


	

	A)
	The tax burden generated from a tax placed on a good consumers perceive to be a necessity will fall most heavily on the sellers of the good.
	

	B)
	The burden of a tax falls on the side of the market (buyers or sellers) from which it is collected.
	

	C)
	The distribution of the burden of a tax is determined by the relative elasticities of supply and demand and is not determined by legislation.
	+

	D)
	The tax burden falls most heavily on the side of the market (buyers or sellers) that is most willing to leave the market when price movements are unfavourable to them.
	

	E)
	None of these answers.
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The above figure shows Bobby's indifference map for juice and snacks. Also shown are three budget lines resulting from different prices for snacks assuming he has $20 to spend on these goods. Which of the following points are on Bobby's price-consumption curve?
	

	A)
	10 snacks and 20 juices
	

	B)
	10 snacks and 0 juices
	

	C)
	10 snacks and 5 juices
	

	D)
	10 snacks and 15 juices
	+

	E)
	 0 snacks and 20 juices 
	

	34
	A tax placed on a good that is a necessity for consumers will likely generate a tax burden that
	

	A)
	falls more heavily on sellers.
	

	B)
	falls entirely on sellers.
	

	C)
	falls more heavily on buyers.
	+

	D)
	is evenly distributed between buyers and sellers.
	

	E)
	None of these answers.
	

	35
	Consumer surplus is the area
	

	A)
	below the demand curve and above the price.
	+

	B)
	above the supply curve and below the price.
	

	C)
	above the demand curve and below the price.
	

	D)
	below the supply curve and above the price.
	

	E)
	below the demand curve and above the supply curve.
	

	36
	Suppose there are three identical vases available to be purchased. Buyer 1 is willing to pay €30 for one, buyer 2 is willing to pay €25 for one, and buyer 3 is willing to pay €20 for one. If the price is €25, how many vases will be sold and what is the value of consumer surplus in this market?
	

	A)
	Three vases will be sold and consumer surplus is €80.
	

	B)
	One vase will be sold and consumer surplus is €5.
	

	C)
	One vase will be sold and consumer surplus is €30.
	

	D)
	Three vases will be sold and consumer surplus is €0.
	

	E)
	Two vases will be sold and consumer surplus is €5.
	+

	37
	Producer surplus is the area
	

	A)
	below the supply curve and above the price.
	

	B)
	below the demand curve and above the supply curve.
	

	C)
	below the demand curve and above the price.
	

	D)
	above the demand curve and below the price.
	

	E)
	above the supply curve and below the price.
	+

	38
	Total surplus is the area
	

	A)
	above the demand curve and below the price.
	

	B)
	above the supply curve and below the price.
	

	C)
	below the demand curve and above the price.
	

	D)
	below the demand curve and above the supply curve.
	+

	E)
	below the supply curve and above the price.
	

	39
	Adam Smith's "invisible hand" concept suggests that a competitive market outcome
	

	A)
	maximizes total surplus.
	+

	B)
	generates equality among the members of society.
	

	C)
	minimizes total surplus.
	

	D)
	both maximizes total surplus and generates equality among the members of society.
	

	E)
	None of these answers.
	

	40
	Suppose that the price of a new bicycle is €300. Natalie values a new bicycle at €400. It costs €200 for the seller to produce the new bicycle. What is the value of total surplus if Natalie buys a new bike?
	

	A)
	€500
	

	B)
	€300
	

	C)
	€200
	+

	D)
	€400
	

	E)
	€100
	

	41
	Deadweight loss is greatest when
	

	A)
	supply is elastic and demand is perfectly inelastic.
	

	B)
	demand is elastic and supply is perfectly inelastic.
	

	C)
	both supply and demand are relatively inelastic.
	

	D)
	both supply and demand are relatively elastic.
	+

	E)
	None of these answers.
	

	42
	Suppose the world price is below the before-trade domestic price for a good. If a country allows free trade in this good,
	

	A)
	None of these answers.
	

	B)
	both producers and consumers will gain.
	

	C)
	both producers and consumers will lose.
	

	D)
	producers will gain and consumers will lose.
	

	E)
	consumers will gain and producers will lose.
	+

	43
	The rate at which a consumer must give up y to get one more x is equal to
	

	A)
	-Px/Py. 
	+

	B)
	-Py/Px. 
	

	C)
	-MUx/MUy. 
	

	D)
	MUy/MUx. 
	

	E)
	-Px/ MUy.
	

	44
	In the long run, all factors of production are
	

	A)
	variable.
	+

	B)
	fixed.
	

	C)
	materials.
	

	D)
	rented.
	

	E)
	none of these answers.
	

	45
	Which of the following statements is TRUE?
	

	A)
	Labor is always a variable input, whereas Capital is always a fixed input.
	

	B)
	Labor is always a fixed input, whereas Capital is always a variable input.
	

	C)
	Labor can be a fixed input., and Capital can be a variable input.
	+

	D)
	Labor can be a fixed input, and Capital is always a fixed input.
	

	E)
	none of these answers.
	

	46
	Which of the following inputs is normally considered to be variable in the short run?
	

	A)
	labor
	+

	B)
	capital
	

	C)
	money
	

	D)
	time
	

	E)
	all of these answers
	

	47
	Which of the following is not employed as an argument in support of trade restrictions?
	

	A)
	Free trade harms the national security if vital products are imported.
	

	B)
	Free trade is harmful to importing countries if foreign countries subsidize their exporting industries.
	

	C)
	Free trade destroys domestic jobs.
	

	D)
	Free trade harms both domestic producers and domestic consumers and therefore reduces total surplus.
	+

	E)
	Free trade harms infant industries in an importing country.
	

	48
	Nicole owns a small pottery factory. She can make 1,000 pieces of pottery per year and sell them for €100 each. It costs Nicole €20,000 for the raw materials to produce the 1,000 pieces of pottery. She has invested €100,000 in her factory and equipment: €50,000 from her savings and €50,000 borrowed at 10 percent (assume that she could have loaned her money out at 10 percent, too). Nicole can work at a competing pottery factory for €40,000 per year. The economic profit at Nicole's pottery factory is
	

	A)
	€80,000.
	

	B)
	€30,000.
	+

	C)
	€75,000.
	

	D)
	€70,000.
	

	E)
	€35,000.
	

	49
	When marginal costs are below average total costs,
	

	A)
	average fixed costs are rising.
	

	B)
	average total costs are falling.
	+

	C)
	average total costs are rising.
	

	D)
	average total costs are minimized.
	

	E)
	average fixed costs are falling.
	

	50
	The Marginal Product of Labor is
	

	A)
	none of these answers.
	

	B)
	the ratio of output to the number of workers used to produce that output
	

	C)
	the amount of output that can be produced by a given amount of labor.
	

	D)
	equal to the marginal product of labor when the average product is increasing.
	

	E)
	the change in total product resulting from an extra unit of labor, holding other factors constant.
	+

	51
	Given the production function q = 4LK, what is the marginal product of labor when capital is fixed at 25?
	

	A)
	4K
	

	B)
	100
	+

	C)
	100K
	

	D)
	100L
	

	E)
	4L
	

	52
	Which of the following is not a characteristic of a competitive market?
	

	A)
	All of these answers are characteristics of a competitive market.
	

	B)
	There are many buyers and sellers in the market.
	

	C)
	The goods offered for sale are largely the same.
	

	D)
	Firms generate small but positive economic profits in the long run.
	+

	E)
	Firms can freely enter or exit the market.
	

	53
	In the long run, the competitive firm's supply curve is the
	

	A)
	entire marginal cost curve.
	

	B)
	upward-sloping portion of the average total cost curve.
	

	C)
	portion of the marginal cost curve that lies above the average total cost curve.
	+

	D)
	upward-sloping portion of the average variable cost curve.
	

	E)
	portion of the marginal cost curve that lies above the average variable cost curve.
	

	54
	In long-run equilibrium in a competitive market, firms are operating at
	

	A)
	the minimum of their average-total-cost curves.
	

	B)
	all of these answers are correct.
	+

	C)
	their efficient scale.
	

	D)
	zero economic profit.
	

	E)
	the intersection of marginal cost and marginal revenue.
	

	55
	A monopolist maximizes profit by producing the quantity at which
	

	A)
	marginal revenue equals marginal cost.
	+

	B)
	marginal revenue equals price.
	

	C)
	marginal cost equals price.
	

	D)
	marginal cost equals demand.
	

	E)
	none of these answers.
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The profit-maximizing monopolist will choose the price and quantity represented by point
	

	A)
	A.
	+

	B)
	B.
	

	C)
	C.
	

	D)
	D
	+

	E)
	none of these answers.
	

	57
	The monopolist's supply curve
	

	A)
	does not exist.
	

	B)
	is the marginal cost curve above average variable cost.
	+

	C)
	is the marginal cost curve above average total cost.
	

	D)
	is the upward-sloping portion of the average total cost curve.
	

	E)
	is the upward-sloping portion of the average variable cost.
	

	58
	Which of the follow statements about price discrimination is not true?
	

	A)
	Perfect price discrimination generates a deadweight loss.
	+

	B)
	Price discrimination can raise economic welfare.
	

	C)
	Price discrimination requires that the seller be able to separate buyers according to their willingness to pay.
	

	D)
	Price discrimination increases a monopolist's profits.
	

	E)
	For a monopolist to engage in price discrimination, buyers must be unable to engage in arbitrage.
	

	59
	A monopoly is able to continue to generate economic profits in the long run because
	

	A)
	there is some barrier to entry to that market.
	+

	B)
	potential competitors sometimes don't notice the profits.
	

	C)
	the monopolist is financially powerful.
	

	D)
	antitrust laws eliminate competitors for a specified number of years.
	

	E)
	of all of the things described in these answers
	

	60
	Suppose an oligopolist individually maximizes its profits. When calculating profits, if the output effect exceeds the price effect on the marginal unit of production, then the oligopolist
	

	A)
	should produce more units.
	+

	B)
	has maximized profits.
	

	C)
	is in a Nash equilibrium.
	

	D)
	should produce fewer units.
	

	E)
	should exit the industry.
	

	61
	The marginal rate of technical substitution always equals
	

	A)
	all of these answers are correct.
	

	B)
	minus the ratio of the marginal products of inputs
	+

	C)
	the change in output due to a change in the amount of one input.
	

	D)
	the distance between two isoquants.
	

	E)
	the slope of the total product curve.
	

	62
	Sarah earns $40,000 per year working for a large corporation. She is thinking of quitting this job to work full time in her own business. She will invest her savings of $50,000 (which currently has an annual 10% rate of return) into the business. Her annual opportunity cost of this new business is
	

	A)
	$0.
	

	B)
	$40,000.
	

	C)
	$45,000.
	+

	D)
	$90,000
	

	E)
	$25,000
	

	63
	Manisha could work for another firm making $10,000 per month, but she decides to open her own gourmet cheese store and pay herself $2,000 per month. In her first month of operations, she spends $6,000 on cheese, $1,000 on other items, and $2,500 on rent. She had a great opening month, and brought in revenues of $14,500. What are Manisha's economic profits?
	

	A)
	$3,000
	

	B)
	$4,000
	

	C)
	-$5,000
	+

	D)
	-$6,000
	

	E)
	-$7,000
	

	64
	A sunk cost is
	

	A)
	the cost for drilling certain types of wells, such as a well for water.
	

	B)
	a past cost that cannot be recovered.
	+

	C)
	a cost that is highly relevant for decision-making.
	

	D)
	an opportunity cost.
	

	E)
	a marginal cost
	

	65
	 If a firm buys a specialized metal stamping machine that will last 4 years for $125,000 and cannot resell it, the sunk cost is
	

	A)
	$0.
	

	B)
	$31,250.
	

	C)
	$125,000.
	+

	D)
	$93,750.
	

	E)
	$452.
	

	66
	Which of the following statements is NOT true?
	

	A)
	AC = AFC + AVC
	

	B)
	C = F + VC
	

	C)
	AVC = wage/MPL
	+

	D)
	AFC = AC - AVC
	

	E)
	All of these answers
	

	67
	When a firm produces one unit, the variable cost is $3. When the firm produces two units, the variable cost is $6. What is the marginal cost associated with two units of production?
	

	A)
	$2
	

	B)
	$0.5
	

	C)
	$6
	

	D)
	$3
	+

	E)
	$1
	

	68
	Which of the following firms is most likely to spend a large percentage of their revenue on advertising?
	

	A)
	the producer of a highly differentiated consumer product
	+

	B)
	the manufacturer of an undifferentiated commodity
	

	C)
	a perfect competitor
	

	D)
	the manufacturer of an industrial product
	

	E)
	the producer of a low quality product that costs the same to produce as a similar high quality product.
	

	69
	Suppose the total cost of producing T-shirts can be represented as TC = 50 + 2q. The average cost of the 5th T-shirt is
	

	A)
	2.
	

	B)
	12.
	+

	C)
	52.
	

	D)
	60
	

	E)
	22.
	

	70
	If average cost is decreasing
	

	A)
	marginal cost equals average cost.
	

	B)
	marginal cost exceeds average cost.
	

	C)
	marginal cost is less than average cost.
	+

	D)
	Not enough information is given.
	

	E)
	marginal cost equals fixed cost.
	

	71
	Which of the following are NOT characteristics of a competitive market?
	

	A)
	There is freedom of entry and exit.
	

	B)
	There are zero transaction costs.
	

	C)
	There are only one or two sellers.
	+

	D)
	Buyers and sellers have complete information
	

	E)
	buyers are price-takers.
	

	72
	If a firm is a price taker, then its marginal revenue will always equal
	

	A)
	price.
	+

	B)
	total cost.
	

	C)
	zero.
	

	D)
	one.
	

	E)
	fixed cost
	

	73
	The monopolist's marginal revenue curve
	

	A)
	doesn't exist.
	

	B)
	lies below the demand curve
	+

	C)
	is identical to the demand curve.
	

	D)
	lies above the demand curve.
	

	E)
	all of these answers are correct.
	

	74
	If the inverse demand function for a monopoly's product is p = a - bQ, then the firm's marginal revenue function is
	

	A)
	a.
	

	B)
	a - (1/2)bQ
	

	C)
	a - bQ.
	

	D)
	a - 2bQ
	+

	E)
	a-b
	

	75
	If the inverse demand curve a monopoly faces is p = 100 - 2Q, and MC is constant at 16, then profit maximization is achieved when the monopoly sets price equal to
	

	A)
	16.
	

	B)
	21.
	

	C)
	25.
	

	D)
	58.
	+

	E)
	26.
	

	76
	A monopoly that is maximizing profits never operates in the ________ portion of the demand curve.
	

	A)
	unitary elastic
	

	B)
	elastic
	

	C)
	inelastic
	+

	D)
	horizontal
	

	E)
	perfect elastic
	

	77
	Suppose a monopolist has TC = 100 + 10Q + 2Q2, and the demand curve it faces is p = 90 - 2Q. What will be the profit for this firm?
	

	A)
	$300
	+

	B)
	$400
	

	C)
	$500
	

	D)
	$600
	

	E)
	$200
	

	78
	The Lerner Index is
	

	A)
	the ratio of the difference between price and marginal cost to price
	

	B)
	equal to (Price - MC)/Price
	

	C)
	a measure of market power.
	

	D)
	equal to -1/ e
	

	E)
	All of the above
	+

	79
	If the inverse demand curve a monopoly faces is p = 100 - 2Q, and MC is constant at 16, then the firm's Lerner Index equals
	

	A)
	58/16.
	

	B)
	16/42.
	

	C)
	58/42.
	

	D)
	42/58.
	+

	E)
	42/16.
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The above figure shows the demand and marginal cost curves for a monopoly. The deadweight loss of this monopoly equals
	

	A)
	h.
	

	B)
	c.
	

	C)
	c + f.
	+

	D)
	c + d + e + f.
	

	E)
	e.
	

	81
	If the inverse demand curve a monopoly faces is p = 100 - 2Q, and MC is constant at 16, then the deadweight loss from monopoly equals
	

	A)
	$21.
	

	B)
	$441.
	+

	C)
	$882.
	

	D)
	$1,764.
	

	E)
	$211.
	

	82
	A monopoly advertises
	

	A)
	to raise its profit.
	+

	B)
	to decrease costs
	

	C)
	dissuade entry by other firms.
	

	D)
	reduce deadweight loss.
	

	E)
	reduce its profit
	

	83
	Why do firms engage in price discrimination
	

	A)
	to decrease cost
	

	B)
	to increase profits
	+

	C)
	to increase consumer surplus
	

	D)
	to prohibit the resale of their products
	

	E)
	all of the above
	

	84
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The above figure shows the market for a particular good. If the market is controlled by a perfect-price-discriminating monopoly, consumer surplus equals
	

	A)
	A.
	

	B)
	A + B + C.
	

	C)
	C.
	

	D)
	zero.
	+

	E)
	C+E
	

	85
	Which of the following statements is FALSE?
	

	A)
	Cartels only form among members of an oligopoly.
	+

	B)
	A cartel might form if members believe they can increase profits by coordinating activity.
	

	C)
	Members of a cartel produce less output than that produced in a competitive market.
	

	D)
	Cartel members often have an incentive to cheat.
	

	E)
	All of the above
	

	86
	The change in consumption that results when a price change moves the consumer along a given indifference curve is known as the
	

	A)
	inferior effect.
	

	B)
	normal effect.

	

	C)
	substitution effect.

	+

	D)
	complementary effect.

	

	E)
	income effect.
	

	87
	A strategy is dominant if
	

	A)
	it yields a greater payoff than any other player receives.
	

	B)
	it yields a payoff at least as large as that from any other strategy, regardless of the actions of other players. 
	+

	C)
	the player cannot gain by changing strategy, assuming that no other player changes strategy
	

	D)
	it is part of a Nash equilibrium. 
	

	E)
	all of the above
	

	88
	A Nash equilibrium occurs when
	

	A)
	all of these answers are correct.
	

	B)
	players choose their best strategy  given the strategies chosen by others. 
	+

	C)
	the efficient allocation of resources is achieved by setting marginal revenue equal to marginal cost.
	

	D)
	a monopolist is forced to produce the efficient level of output.
	

	E)
	oligopolists cooperate with each other
	

	89
	Profit is
	

	A)
	maximized when the marketing department coordinates with the production department.
	

	B)
	maximized when revenue is maximized.
	

	C)
	used to beat a company's rivals.
	

	D)
	the difference between a firm's revenues and its costs.
	+

	E)
	none of these answers.
	

	90
	If a competitive firm maximizes short-run profits by producing some quantity of output, which of the following must be TRUE at that level of output?
	

	A)
	p = MC
	

	B)
	MR = MC
	

	C)
	p ≥ AVC
	

	D)
	p = MR
	

	E)
	All of the above
	+

	91
	A firm will shut down in the short run if
	

	A)
	total fixed costs are too high.
	

	B)
	total revenue from operating would not cover all costs.
	

	C)
	total revenue from operating would not cover variable costs.
	+

	D)
	total revenue from operating would not cover fixed costs.
	

	E)
	total fixed costs are too small.
	

	92
	A monopoly sets a price of $50 per unit for an item that has a marginal cost of $10. Assuming profit maximization, the implicit demand elasticity is
	

	A)
	-0.2.
	

	B)
	-0.8.
	

	C)
	-1.25.
	+

	D)
	-5.0.
	

	E)
	-1.
	

	93
	A firm has revenue given by R(q) = 100q - 3q2 and its cost function is C(q) = 100 + 10q. What is the profit-maximizing level of output? What profit does the firm earn at this output level?
	

	A)
	$3150
	

	B)
	$1925
	+

	C)
	$5153
	

	D)
	$4346
	

	E)
	$2651
	

	94
	The cost function of competitive firm is TC=Q2 +49 . find the the product's price in a long tern
	

	A)
	$9
	

	B)
	$12
	

	C)
	$14
	+

	D)
	$24
	

	E)
	$36
	

	95
	Suppose a country's workers can produce 4 watches per hour or 12 rings per hour. If there is no trade,
	

	A)
	the domestic price of 1 ring is 1/4 of a watch.
	

	B)
	the domestic price of 1 ring is 3 watches.
	

	C)
	the domestic price of 1 ring is 1/3 of a watch.
	+

	D)
	the domestic price of 1 ring is 12 watches.
	

	E)
	the domestic price of 1 ring is 4 watches.
	

	96
	The law of supply states that an increase in the price of a good
	

	A)
	none of these answers.
	

	B)
	increases the quantity supplied of that good.
	+

	C)
	increases the supply of that good.
	

	D)
	decreases the demand for that good.
	

	E)
	decreases the quantity demanded for that good.
	

	97
	If the price of a good is below the equilibrium price,
	

	A)
	there is a shortage and the price will rise.
	+

	B)
	the quantity demanded is equal to the quantity supplied and the price remains unchanged.
	

	C)
	there is a shortage and the price will fall.
	

	D)
	there is a surplus and the price will rise.
	

	E)
	there is a surplus and the price will fall.
	

	98
	The price elasticity of a product that monopoly produces equals to -2. is marginal cost is constant and equal 40. Find the price of a good at which the firm maximizes its profits
	

	A)
	$80
	+

	B)
	$40
	

	C)
	$60
	

	D)
	$85
	

	E)
	$62.5
	

	99
	The price elasticity of demand is defined as
	

	A)
	the percentage change in the quantity demanded divided by the percentage change in income.
	

	B)
	the percentage change in income divided by the percentage change in the quantity demanded.
	

	C)
	the percentage change in the quantity demanded of a good divided by the percentage change in the price of that good.
	+

	D)
	none of these answers.
	

	E)
	the percentage change in price of a good divided by the percentage change in the quantity demanded of that good.
	

	100
	The scientific method requires that
	

	A)
	the scientist be objective.
	+

	B)
	the scientist use precision equipment.
	

	C)
	only correct theories are tested.
	

	D)
	only incorrect theories are tested.
	

	E)
	the scientist use test tubes and have a clean lab.
	


